



TRANSFORMATION OPERATORS FOR THE PERTURBED HILL EQUATION WITH COMPLEX COEFFICIENTS

 **A.Kh. Khanmamedov**^{1,2,3,4},  **A.F. Mamedova**^{5*}

¹Baku State University, Baku, Azerbaijan

²Institute of Mathematics and Mechanics, National Academy of Sciences of Azerbaijan, Baku, Azerbaijan

³Azerbaijan University, Baku, Azerbaijan

⁴Baku Engineering University, Khirdalan, Baku, Azerbaijan

⁵Azerbaijan State University of Economics (UNEC), Baku, Azerbaijan

Abstract. In this paper, we consider the perturbed Hill equation on the entire axis. Using a transformation operator that preserves asymptotics at infinity, triangular representations of special solutions of this equation are found. Estimates for the representation kernels are obtained.

Keywords: perturbed equation, Hill equation, Floquet solutions, transformation operator, Bessel function, Riemann function.

AMS Subject Classification: 34A55, 34L40.

Corresponding author: A.F. Mamedova, Azerbaijan State University of Economics (UNEC), Istiglaliyyat 6, AZ1001, Baku, Azerbaijan, e-mail: Mammadova.Afaq@unec.edu.az

Received: 3 September 2023; Revised: 12 December 2023; Accepted: 16 February 2024;

Published: 22 April 2024.

1 Introduction and main result

It is well known that the concept of a transformation operator is a generalization of the concept of similar matrices (see Levitan, (1987)). Let E be a topological linear space and A, B be two linear, but not necessarily continuous, operators from E to E_2 , where E_1 and E_2 are closed subspaces in E .

Definition 1. A continuous linear operator X defined on the whole space E , and acting E_1 to E_2 is called a transformation operator for a pair of operators A and B , if it satisfies the following two conditions:

- 1) X has a continuous inverse X^{-1} on the whole of E ;
- 2) There is an operator equation

$$AX = XB.$$

In the investigation of direct and inverse scattering problems transformation operators play an important role. They first showed up in the context of generalized shift operators in the work of Delsarte (1938). They have also been investigated by Levitan (1956) and were constructed for arbitrary Sturm–Liouville equations by Povzner (1948). Afterwards transformation operators

How to cite (APA): Khanmamedov, A.Kh., Mamedova, A.F. (2024). Transformation operators for the perturbed Hill equation with complex coefficients. *Advanced Mathematical Models & Applications*, 9(1), 27-34 <https://doi.org/10.62476/amma9127>

have been applied for the first time when considering inverse spectral problems, for example by Marchenko (1973), who noticed that the spectral function of a Sturm–Liouville operator determines the operator uniquely in Marchenko(1986) . Soon after that Gel’fand and Levitan (1962) found a method of recovering Sturm–Liouville equations from its spectral functions, using the transformation operator techniques. Another important step was the introduction of transformation operators, which preserve the asymptotic behavior of solutions at infinity by Levin (1956). Since that these transformation operators are the main tool for solving different kinds of scattering problems, mainly in the case of constant backgrounds (see Levitan (1987), Marchenko (1986).

Consider the perturbed Hill equation

$$-y'' + p(x)y + q(x)y = \lambda y, -\infty < x < +\infty, \quad (1)$$

where $p(x)$ is a continuous periodic function (real or complex valued) and complex -valued function $q(x)$ satisfies a first moment condition, i.e.

$$\int_{-\infty}^{+\infty} (1 + |x|) |q(x)| dx < \infty. \quad (2)$$

In Boutet de Monvell et al.(2008), Firsova (1987), Khanmamedov et al.(2022), a transformation operator with a condition at infinity for equation (1) was constructed in the case when $p(x)$ is a real function. These works essentially use the eigenfunction expansion of the corresponding self-adjoint unperturbed operator, which is based on the reality of the function $p(x)$. Therefore, the methods used in Boutet de Monvell et al.(2008), Firsova (1987), Khanmamedov et al.(2022) are not applicable in the case of a complex potential $p(x)$. In this direction, we note the work Khanmamedov et al.(2023) in which a transformation operator was constructed for equation (1), when $p(x) = e^{ix}$. Spectral analysis of the Hill equation with the coefficient $p(x) = \sum_{n=1}^{\infty} p_n e^{inx}$ was studied in detail in Gasymov (1980), Pastur et al.(1991).

Let us consider the equation

$$-y'' + i(\sin x)y + q(x)y = \lambda y, -\infty < x < +\infty, \quad (3)$$

where the complex-valued function $q(x)$ satisfies the condition (2). In this paper, the transformation operators with conditions at infinity were constructed for equation (1). Unlike work Khanmamedov et al.(2023), in our case the periodic potential has an infinite number of real gaps. However, there are significant qualitative differences in the band structure of these potentials compared to ordinary real periodic potentials. In fact, although the potential $p(x) = i \sin x$ has an infinite number of gaps; there are periodic wave functions at the edges of the zone, but no anti-periodic wave functions (see see Bender et al.(1999). In this regard, the results obtained can be useful in studying direct and inverse scattering problems for equation (1).

Note that $q(x) = 0$ the equation (1.3) is the Mathieu equation, which describes the vibration of elliptical drumheads. Mathieu’s equation also has various applications in many fields of physical sciences, such as optics, quantum mechanics and general relativity (see Derek (2020), Kovacic et al.(2018)).

Let $\varphi(x, \lambda)$ and $\theta(x, \lambda)$ be the solutions of equation

$$-y'' + i(\sin x)y = \lambda y, -\infty < x < +\infty, \quad (4)$$

such that $\varphi(0, \lambda) = 0, \varphi'(0, \lambda) = 1, \theta(0, \lambda) = 1, \theta'(0, \lambda) = 0$. Then for any given x $\varphi(x, \lambda), \varphi'(x, \lambda), \theta(x, \lambda), \theta'(x, \lambda)$ are entire functions of λ . We set $F(\lambda) = \frac{\varphi'(\pi, \lambda) + \theta(\pi, \lambda)}{2}$. Let (see, for example, Magnus (1966)) $e^{\pm ik} = F(\lambda) \pm i\sqrt{1 - F^2(\lambda)}$ and suppose that the functions $\Psi_{\pm}(x, \lambda) = e^{\pm ik(2\pi)^{-1}x} \chi_{\pm}(x, \lambda)$, where $\chi_{\pm}(x + 2\pi, \lambda) = \chi_{\pm}(x, \lambda)$, are the Floquet solutions of the unperturbed equation.

We shall use the following notation

$$\sigma^\pm(x) = \pm \int_x^{\pm\infty} |q(t)| dt, \quad \sigma_1^\pm(x) = \pm \int_x^{\pm\infty} \sigma^\pm(t) dt.$$

The main result of the present paper is as follows.

Theorem 1. *If the potential $q(x)$ satisfies condition (2), then, for all values of λ , Eq. (3) has solutions $f_\pm(x, \lambda)$ representable as*

$$f_\pm(x, \lambda) = \Psi_\pm(x, \lambda) \pm \int_x^{\pm\infty} K^\pm(x, t) \Psi_\pm(t, \lambda) dt, \quad (5)$$

where the kernels $K^\pm(x, t)$ are continuous functions and satisfy the following conditions:

$$|K^\pm(x, t)| \leq C \sigma_0^\pm \left(\frac{x+t}{2} \right) e^{C \sigma_1^\pm(x)}, \quad (6)$$

$$K^\pm(x, x) = \pm \frac{1}{2} \int_x^{\pm\infty} q(t) dt, \quad (7)$$

here and below, C denotes, generally speaking, different constants.

2 Proof of the theorem

Without loss of generality, we consider the case “+” and assume that $x > 0$.

In proving the theorem, the following lemmas will be required.

Lemma 1. *Let*

$$z = \sqrt{2i(\sin \xi - \sin \xi_0)(\cos \eta_0 - \cos \eta)}, \quad \xi_0 < \xi < \infty, \quad 0 < \eta < \eta_0, \quad (8)$$

$$R(\xi, \eta, \xi_0, \eta_0) = J_0(z) = \sum_{n=0}^{\infty} \frac{(-1)^n}{(n!)^2} \left(\frac{z}{2} \right)^{2n}, \quad (9)$$

then the function $R(\xi, \eta, \xi_0, \eta_0)$ satisfies the equation

$$\frac{\partial^2 R}{\partial \xi \partial \eta} - 2i \cos \xi \sin \eta R = 0 \quad (10)$$

and

$$R(\xi_0, \eta; \xi_0, \eta_0) = R(\xi, \eta_0; \xi_0, \eta_0) = 1. \quad (11)$$

In other words, $R(\xi, \eta, \xi_0, \eta_0)$ is the Riemann function of the equation (10) and has the symmetric property

$$R(\xi, \eta; \xi_0, \eta_0) = R(\xi_0, \eta_0; \xi, \eta). \quad (12)$$

Proof. Differentiating (9) and taking into account (8), it is directly verified that

$$\frac{\partial^2 R}{\partial \xi \partial \eta} - 2i \cos \xi \sin \eta R = 2i \cos \xi \sin \eta \left[J_0''(z) + \frac{1}{z} J_0'(z) + J_0(z) \right] = 0.$$

From (8), (9), we have (11), (12).

Since for real x the trigonometric functions $\sin x$ and $\cos x$ vary from -1 to 1, we have $|J_0(z)| \leq 1$. Further, using the well-known Abramowitz et al.(1964) relations $J_{n+1}(z) + J_{n-1}(z) = \frac{2n}{z} J_n(z)$, $J_n'(z) = -J_{n+1}(z) + \frac{n J_n(z)}{z}$, where $J_n(z)$ is the Bessel function of the

first kind, we obtain that the Riemann function (see Courant (1962)) $R(\xi, \eta, \xi_0, \eta_0)$ and its partial derivatives are uniformly bounded up to the second order:

$$|R(\xi_0, \eta_0, \xi, \eta)| + \left| \frac{\partial R(\xi_0, \eta_0, \xi, \eta)}{\partial \xi_0} \right| + \left| \frac{\partial R(\xi_0, \eta_0, \xi, \eta)}{\partial \eta_0} \right| + \left| \frac{\partial^2 R(\xi_0, \eta_0, \xi, \eta)}{\partial \xi_0^2} \right| + \left| \frac{\partial^2 R(\xi_0, \eta_0, \xi, \eta)}{\partial \eta_0^2} \right| + \left| \frac{\partial^2 R(\xi_0, \eta_0, \xi, \eta)}{\partial \xi_0 \partial \eta_0} \right| \leq C, \quad C = \text{const.} \quad (13)$$

□

Lemma 2. *If $q(x)$ satisfies condition(2), then the integral equation*

$$U(\xi_0, \eta_0) = \frac{1}{2} \int_{\xi_0}^{\infty} R(\xi, 0, \xi_0, \eta_0) q(\xi) d\xi - \int_{\xi_0}^{\infty} d\xi \int_0^{\eta_0} U(\xi, \eta) R(\xi, \eta, \xi_0, \eta_0) q(\xi - \eta) d\eta. \quad (14)$$

has one and only one solution $U(\xi_0, \eta_0)$. Furthermore,

$$|U(\xi_0, \eta_0)| \leq C \sigma_0^+(\xi_0) e^{C \sigma_1^+(\xi_0 - \eta_0)}, \quad C = \text{const} \quad (15)$$

Proof. Using the method of successive approximation, let

$$U_0(\xi_0, \eta_0) = \frac{1}{2} \int_{\xi_0}^{\infty} R(\xi, 0; \xi_0, \eta_0) q(\xi) d\xi, \quad (16)$$

$$U_n(\xi_0, \eta_0) = - \int_{\xi_0}^{\infty} d\xi \int_0^{\eta_0} U_{n-1}(\xi, \eta) q(\xi - \eta) R(\xi, \eta; \xi_0, \eta_0) d\eta. \quad (17)$$

Since $\xi > \xi_0$, $\eta < \eta_0$, from relations (13), (16), we obtain

$$|U_0(\xi_0, \eta_0)| \leq \frac{1}{2} \int_{\xi_0}^{\infty} |R(\xi, 0; \xi_0, \eta_0)| |q(\xi)| d\xi \leq C \int_{\xi_0}^{\infty} |q(\xi)| d\xi.$$

Hence,

$$|U_0(\xi_0, \eta_0)| \leq C \sigma_0^+(\xi_0).$$

Further, using (5), we find that

$$\begin{aligned} |U_1(\xi_0, \eta_0)| &\leq \int_{\xi_0}^{\infty} d\xi \int_0^{\eta_0} |U_0(\xi, \eta)| \cdot |q(\xi - \eta)| \cdot R(\xi, \eta; \xi_0, \eta_0) d\eta \leq \\ &\leq C^2 \int_{\xi_0}^{\infty} d\xi \int_0^{\eta_0} \sigma_0^+(\xi) |q(\xi - \eta)| d\eta \leq C^2 \int_{\xi_0}^{\infty} \sigma_0^+(\xi) d\xi \int_0^{\eta_0} |q(\xi - \eta)| d\eta \leq \\ &\leq C^2 \sigma_0^+(\xi_0) \int_{\xi_0}^{\infty} d\xi \int_0^{\eta_0} |q(\xi - \eta)| d\eta = C^2 \sigma_0^+(\xi_0) \int_{\xi_0}^{\infty} d\xi \int_{\xi - \eta_0}^{\xi} |q(\alpha)| d\alpha \leq \\ &\leq C^2 \sigma_0^+(\xi_0) \int_{\xi_0}^{\infty} d\xi \int_{\xi - \eta_0}^{\infty} |q(\alpha)| d\alpha \leq C^2 \sigma_0^+(\xi_0) \int_{\xi_0}^{\infty} \sigma_0^+(\xi - \eta_0) d\xi = C \sigma_0^+(\xi_0) C \sigma_1^+(\xi_0 - \eta_0). \end{aligned}$$

Let now

$$|U_{n-1}(\xi_0, \eta_0)| \leq C \sigma_0^+(\xi_0) \frac{(C \sigma_1^+(\xi_0 - \eta_0))^{n-1}}{(n-1)!}.$$

In this case, we will have

$$|U_n(\xi_0, \eta_0)| \leq \int_{\xi_0}^{\infty} d\xi \int_0^{\eta_0} |q(\xi - \eta) R(\xi, \eta, \xi_0, \eta_0) U_{n-1}(\xi, \eta)| d\eta \leq$$

$$\begin{aligned}
& C^2 \sigma_0^+ (\xi_0) \int_{\xi_0}^{\infty} \frac{(C\sigma_1^+ (\xi - \eta_0))^{n-1}}{(n-1)!} \int_{\xi-\eta_0}^{\xi} |q(\alpha)| d\alpha d\xi \leq \\
& \leq C^2 \sigma_0^+ (\xi_0) \int_{\xi_0}^{\infty} \frac{(C\sigma_1^+ (\xi - \eta_0))^{n-1}}{(n-1)!} \int_{\xi-\eta_0}^{\infty} |q(\alpha)| d\alpha d\xi \leq \\
& = -C^2 \sigma_0^+ (\xi_0) \int_{\xi_0}^{\infty} \frac{(C\sigma_1^+ (\xi - \eta_0))^{n-1}}{(n-1)!} d\sigma_1 (\xi - \eta_0) = C\sigma_0^+ (\xi_0) \frac{(C\sigma_1^+ (\xi_0 - \eta_0))^n}{n!}.
\end{aligned}$$

Hence the series $U(\xi_0, \eta_0) = \sum_{n=0}^{\infty} U_n(\xi_0, \eta_0)$ is absolutely and uniformly convergent, so $U(\xi_0, \eta_0)$ is the solution of the integral equation (14), and $U(\xi_0, \eta_0)$ satisfies the inequality (15). \square

Lemma 3. *Suppose $q(x)$ is a continuously differentiable function and satisfies the condition*

$$\int_{-\infty}^{+\infty} [x^2 |q(x)| + |q'(x)|] dx < \infty, \quad (18)$$

then the solution $U(\xi_0, \eta_0)$ of the integral equation (14) satisfies the following differential equation

$$\frac{\partial^2 U(\xi_0, \eta_0)}{\partial \xi_0 \partial \eta_0} + [-2i \cos \xi \sin \eta + q(\xi - \eta)] U(\xi_0, \eta_0) = 0 \quad (19)$$

and

$$U(\xi_0, 0) = \frac{1}{2} \int_{\xi_0}^{+\infty} q(\xi) d\xi. \quad (20)$$

Proof. Differentiating equation (14) and taking into account (13), (18), we find that the function $U(\xi_0, \eta_0)$ is twice differentiable in the domain $\xi_0 \geq \eta_0$ and true are the relations

$$\begin{aligned}
& \int_{\xi_0}^{+\infty} \left| \xi \frac{\partial U(\xi, \eta)}{\partial \xi} \right| d\xi < \infty, \quad \int_{\xi_0}^{+\infty} \left| \xi \frac{\partial U(\xi, \eta)}{\partial \eta} \right| d\xi < \infty, \\
& \int_{\xi_0}^{+\infty} \left| \frac{\partial^2 U(\xi, \eta)}{\partial \xi^2} \right| d\xi < \infty, \quad \int_{\xi_0}^{+\infty} \left| \frac{\partial^2 U(\xi, \eta)}{\partial \eta^2} \right| d\xi < \infty, \\
& \int_{\xi_0}^{+\infty} \xi^2 \left| \frac{\partial^2 U(\xi, \eta)}{\partial \xi \partial \eta} - 2i \cos \xi \sin \eta \right| d\xi < \infty.
\end{aligned} \quad (21)$$

Differentiating equation (14) directly, we have

$$\begin{aligned}
& \frac{\partial^2 U(\xi_0, \eta_0)}{\partial \xi_0 \partial \eta_0} - 2i \cos \xi_0 \sin \eta_0 U(\xi_0, \eta_0) = \\
& = \frac{1}{2} \int_{\xi_0}^{+\infty} \left[\frac{\partial^2 R(\xi_0, \eta_0, \xi, 0)}{\partial \xi_0 \partial \eta_0} - 2i \cos \xi_0 \sin \eta_0 R(\xi_0, \eta_0, \xi, 0) \right] q(\xi) d\xi - \\
& - \int_{\xi_0}^{+\infty} d\xi \int_0^{\eta_0} \left[\left[\frac{\partial^2 R(\xi_0, \eta_0, \xi, \eta)}{\partial \xi_0 \partial \eta_0} - 2i \cos \xi_0 \sin \eta_0 R(\xi_0, \eta_0, \xi, \eta) \right] \right] U(\xi, \eta) q(\xi - \eta) d\eta - \\
& - q(\xi_0 - \eta_0) U(\xi_0, \eta_0) = -q(\xi_0 - \eta_0) U(\xi_0, \eta_0).
\end{aligned}$$

Putting $\eta_0 = 0$ in (14), we get the result (20).

We now let $\xi_0 = \frac{t+x}{2}$, $\eta_0 = \frac{t-x}{2}$ and express the function $K^+(x, t) = U(\xi_0, \eta_0)$ as a function of x, t . Then the function $K^+(x, t)$ is twice continuously differentiable. In addition, due to (21), we find that if x is fixed we have the relations

$$\int_x^{+\infty} \left| t \frac{\partial K^+(x, t)}{\partial x} \right| dx < \infty, \quad \int_x^{+\infty} \left| t \frac{\partial K^+(x, t)}{\partial t} \right| dt < \infty,$$

$$\int_x^{+\infty} \left| \frac{\partial^2 K^+(x, t)}{\partial x^2} \right| dt < \infty, \quad \int_x^{+\infty} \left| \frac{\partial^2 K^+(x, t)}{\partial t^2} \right| dt < \infty. \quad (22)$$

Moreover, from the two preceding lemmas we get the following lemma. \square

Lemma 4. *Suppose $q(x)$ is a continuously differentiable function and satisfies the condition (18). Then the function $K^+(x, t) = U\left(\frac{t+x}{2}, \frac{t-x}{2}\right)$ satisfies both the differential equation*

$$\frac{\partial^2 K^+(x, t)}{\partial x^2} - [i \sin x + q(x)] K^+(x, t) = \frac{\partial^2 K^+(x, t)}{\partial t^2} - i \sin t K^+(x, t) \quad (23)$$

and the condition

$$K^+(x, x) = \frac{1}{2} \int_x^{+\infty} q(t) dt. \quad (24)$$

Furthermore, the following estimate holds

$$|K^+(x, t)| \leq C \sigma_0^+ \left(\frac{t+x}{2} \right) e^{C \sigma_1^+(x)}. \quad (25)$$

Now the theorem can be proved. By differentiation from (5), we have

$$f'_+(x, \lambda) = \Psi'_+(x, \lambda) - K^+(x, x) \Psi_+(x, \lambda) + \int_x^{+\infty} \frac{\partial K^+(x, t)}{\partial x} \Psi_+(t, \lambda) dt, \quad (26)$$

$$\begin{aligned} f''_+(x, \lambda) &= \Psi''_+(x, \lambda) - \frac{dK^+(x, x)}{dx} \Psi_+(x, \lambda) - K^+(x, x) \Psi'_+(x, \lambda) - \\ &\quad - \frac{\partial K^+(x, x)}{\partial x} \Psi_+(x, \lambda) + \int_x^{+\infty} \frac{\partial^2 K^+(x, t)}{\partial x^2} \Psi_+(t, \lambda) dt. \end{aligned} \quad (27)$$

From

$$-\Psi''_+(x, \lambda) + i \sin x \Psi_+(x, \lambda) = \lambda \Psi_+(x, \lambda) \quad (28)$$

and (5), we have

$$\begin{aligned} \lambda f_+(x, \lambda) &= \lambda \Psi_+(x, \lambda) + \int_x^{+\infty} K^+(x, t) i \sin t \Psi_+(t, \lambda) dt - \\ &\quad - \int_x^{+\infty} K^+(x, t) \Psi''_+(t, \lambda) dt. \end{aligned} \quad (29)$$

Hence, integrating by parts, we obtain

$$\begin{aligned} \int_x^{+\infty} K^+(x, t) \Psi''_+(t, \lambda) dt &= -K^+(x, x) \Psi'_+(x, \lambda) - \int_x^{+\infty} \frac{\partial K^+(x, t)}{\partial t} \Psi'_+(t, \lambda) dt = \\ &= -K^+(x, x) \Psi'_+(x, \lambda) + \frac{\partial K^+(x, x)}{\partial t} \Psi'_+(x, \lambda) + \int_x^{+\infty} \frac{\partial^2 K^+(x, t)}{\partial t^2} \Psi_+(t, \lambda) dt. \end{aligned} \quad (30)$$

By virtue of (5) and (27)-(30), we have

$$\begin{aligned} & -f''_+(x, \lambda) + i \sin x f_+(x, \lambda) + q(x) f_+(x, \lambda) - \lambda f_+(x, \lambda) = \\ &= \int_x^{+\infty} \left[\frac{\partial^2 K^+(x, t)}{\partial t^2} - \frac{\partial^2 K^+(x, t)}{\partial x^2} + K^+(x, t) (i \sin x + q(x) - i \sin t) \right] \Psi_+(t, \lambda) dt + \\ &+ \left[2 \frac{dK^+(x, x)}{dx} + q(x) \right] \Psi_+(x, \lambda) + [-\Psi''_+(x, \lambda) + i \sin x \Psi_+(x, \lambda) - \lambda \Psi_+(x, \lambda)]. \end{aligned}$$

From the lemma 4 and the last relation, $f_+(x, \lambda)$ satisfies equation (3). In conclusion, we note that the requirement for function $q(x)$ to be differentiable can be omitted, since a function from the class (3) can be approximated by functions from the class (14) and then extrapolation to the limit carried out (see Marchenko (1986)). Thus, the proof of the theorem is complete.

3 Conclusion

The perturbation of a certain Hill equation with a complex periodic potential is considered. Using transformation operators, representations of special solutions to this equation are found. The connection between the perturbation potential and the kernels of transformation operators is indicated. The obtained results obtained can be used to study the inverse scattering problem for the perturbed Hill equation.

References

- Abramowitz, M., Stegun, I.A. (1964). Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables. *Natl. Bur. Stand. Appl. Math. Ser.* 55, U.S. Government Printing Office, Washington.
- Bender, C.M., Dunne, G.V., & Meisinger, P.N. (1999). Complex periodic potentials with real band spectra. *Physics Letters A*, 252(5), 272-276.
- Boutet de Monvel, A., Egorova, I., & Teschle, G. (2008). Inverse scattering theory for one-dimensional Schrodinger operators with step like finite-gap potentials. *J. Anal.Math.*, 106(1), 271–316.
- Courant, R., Hilbert, D. (1962). *Methods of Mathematical Physics*. Vol. II: Partial Differential Equations, Interscience Publ., New York.
- Delsarte, J. (1938). Sur certaines transformations fonctionnelles relatives aux equations lineaires aux derivees partielles du second ordre. *C. R. Hebd. Acad. Sci.*, 206, 1780–1782.
- Derek, J.D. (2020). Exact solutions of Mathieu’s equation. Progress of Theoretical and Experimental Physics, 4, <https://doi.org/10.1093/ptep/ptaa024>
- Firsova, N.E. (1987). The direct and inverse scattering problems for the one-dimensional perturbed Hill operator. *Mat. USSR Sb.*, 58(2), 351–388.
- Gasymov, M.G. (1980). Spectral analysis of a class of second-order non-self-adjoint differential operators. *Funct. Anal. Appl.*, 14(1), 11–15 .
- Gelfand, I.M., Levitan, B.M. (1962). On the determination of a differential equation from its spectral function. In: *Amer. Math. Soc. Transl.*, 1, 253–304.
- Khanmamedov, A.Kh., Mamedova, A.F. (2022). A Remark on the Inverse Scattering Problem for the Perturbed Hill Equation. *Math. Notes*, 112(2), 281–285.
- Khanmamedov, A.K., Orucov, D.H. (2023). On the transformation operator for the Schrodinger equation with an additional periodic complex potential. *Bol. Soc. Mat. Mex.*, 29, 36. <https://doi.org/10.1007/s40590-023-00508-0>
- Kovacic, I., Rand, R.H., Sah, S.M.(2018). Mathieu’s Equation and its Generalizations: Overview of Stability Charts and their Features, *Applied Mechanics Reviews*, doi:10.1115/1.4039144.
- Levin, B. (1956). Fourier and Laplace types of transformations by means of differential equations of the second order. *Dokl. Akad. Nauk SSSR*, 106(2), 187–190 (in Russian).
- Levitan, B.M. (1964). Generalized Translation Operators and Some of Their Applications. Israel Program for Scientific Translations, Jerusalem.
- Levitan, B.M. (1987). *Inverse Sturm–Liouville Problems*. Translated from Russian by O. Efimov, VSP, Zeist.

Magnus, W., Winkler, S. (1966). *Hill's Equation*. Interscience, New York.

Marchenko, V.A. (1973). Some questions in the theory of one-dimensional linear differential operators of the second order. I, Tr. Mosk. Mat. Obs. 1 (1952) 327–420 (in Russian); *English transl. in: Amer. Math. Soc. Transl. Ser. 2*(101), 1–104.

Marchenko, V.A. (1986). *Sturm–Liouville Operators and Applications*. Birkhduser, Basel.

Pastur, L.A., Tkachenko, V.A. (1991). An inverse problem for a class of one-dimensional Shrodinger operators with a complex periodic potential. *Math. USSR-Izv.*, 37(3), 611–629.

Povzner, A. (1948). On differential equations of Sturm–Liouville type on a half-axis. *Mat. Sb.*, 23(1), 3–52.